tricot13-4 Capelet Cowl

Suggested yarn:
+ Keito-Zakka Stores Le Cocon [80% cotton, 20% merino wool; 133 yds/122m per 1.41

0z./40g skein]; color #07 grayish blue, 5 skeins [170g]

Tools/Notions:

¢ 2.7 (approx. US 2), 3.0mm (US 2v%2), 3.3mm (approx. US 3), and 3.6mm (approx. US
4) knitting needles or sizes necessary to achieve gauge

* 2.5mm hook (approx. US B or C)

Finished measurements:
* lower circumference 118cm/46.5"

* length 41.5cm/16.3"

Gauge (10cm/4" square):
, + k1p1 ribbing (with 2.7mm needles): 36 sts and 40 rows
) + k1p1 ribbing (with 3.0mm needles): 32 sts and 38 rows
« pattern stitch (with 3.3mm needles): 23 sts and 33 rows
= — « pattern stitch (with 3.6mm needles): 20 sts and 31 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve
gauge. Alternatively, rework pattern with your own gauge measurements.

Summary

---------------------------------------------------------------

Body of cape: Cast on with long-tail cast-on method. Work in pattern stitch, changing needle size when indicated
to alter gauge. On row 106, work evenly spaced decreases. Change needle size and begin working k1p1 ribbing.
Change needle size again when indicated. Bind off in pattern.

Finishing: Seam sides with mattress stitch. Work sc edging in the round along bottom edge.

Abbreviations:

BO = bind off

CO=caston

k = knit

k2tog = knit 2 sts together
k3tog = knit 3 sts together

p = purl

psso = pass slipped st(s) over
sc = single crochet (US)

YO =yarn over

---------------------------------------------
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